
 

a x F X Fred
b X F Evelyn x
c x Y F X Y

d TEX y FX Y
e V17 F XY

f x 7 F X Fred n F x Jerry
or 7 EX F X Fred nF X Jerry



person is not person 2

10g y ya FINanlyyr nF
Nancyyanyityantylay.gl gys

person1 personz

b 7g x Fix y A z x Fix y z y only person
person2

1 TIX F X X or X TF X X

j y XfY
FX g Z IFIX2 1 x z y

NOThimselfherself I x ̅
exactly one

person

a True Since for each n there existsim such that n'am

b True Since Thereexists an n for all m such that nom
whenn o

c True Since for each n there exists a m such thatntm
which is n

d True Since Thereexists an n for all m such that nm m
where n 1

e True Since There exists an n and am such that
n4mE5Where n 1 m 2



f False Wecan'tfind integers n and in such that n tm 6

9 False Since Hmm n E m whichareNOT integers

h True since 91m n 3 m I V

i False Here is a counterexample
2 m 3 D I hotage


